

Maisonette in Pieta



Pieta, Sliema and St Julians Surroundings



€365,000

Reference No: 240221067-578

Total Rooms: 7

Floor Area (m²) : 156

Bathrooms: 2

Bedrooms: 3

Maisonette - For Sale - Pieta

Pieta - Newly listed on the market, is this one bedroom apartment. The property is situated close to amenities and consists of a kitchen / living / dining, a bathroom, a bedroom and a front balcony. It is being sold fully finished including the bathroom and the internal doors. Call now for an immediate viewing. Freehold Excellent Rental Investment!

Features

- ✓ Ceramic Floor
- ✓ PVC Piping
- ✓ Skirting
- ✓ Passenger Lift
- ✓ Double Glazed
- ✓ Video Intercom

Rooms

- ✓ Bathroom : 2.4 x 1.8 m (4.32 m²)
- ✓ Kitchen/Living/Dining : 8 x 5.3 m (42.4 m²)
- ✓ Double Bedroom : 4.2 x 3.6 m (15.12 m²)
- ✓ Double Bedroom : 4 x 2.8 m (11.2 m²)
- ✓ Double Bedroom : 3.1 x 3 m (9.3 m²)
- ✓ Box Room : 1.1 x 1.1 m (1.21 m²)
- ✓ Shower Ensuite : 3 x 1.1 m (3.3 m²)
- ✓ Open Space : 4.5 x 1.5 m (6.75 m²)
- ✓ Open Space : 4.9 x 5.2 m (25.48 m²)

Gallery





Ludwig D' Amato
RE/MAX Excellence - Piazzetta

M: 79823374
E: ludwig@remax.com.mt
T: 21341341

RE/MAX Excellence - Piazzetta
114B, Tower Road, Sliema, Malta